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QUESTION 1

The population of Grand Island, Nebraska, grew by 600,000 people between 1995 and 2005, one-fifth more than the
town council predicted. 

The town council originally predicted the city\\'s population would grow by __________. 

A. 400,000 

B. 500,000 

C. 300,000 

D. 200,000 

Correct Answer: B 

 

QUESTION 2

Pam cuts a pie in half in a straight line. She then cuts a line from the center to the edge, creating a 55degree angle. 

What\\'s the supplement of that angle? 

A. 55 degrees 

B. 125 degrees 

C. 70 degrees 

D. 130 degrees 

Correct Answer: B 

 

QUESTION 3

The high-school track measures one quarter of a mile around. 

How many laps would you have to run in order to run three and a half miles? 

A. 12 

B. 14 

C. 16 

D. 18 

Correct Answer: B 
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QUESTION 4

Two monorails depart their respective stations at the same time. The monorail headed south is traveling 65 miles an
hour, while the monorail headed north is traveling 55 miles per hour. 

Given this information, how many miles will both monorails travel in 4 hours? 

A. 480 miles 

B. 465 miles 

C. 570 miles 

D. 508 miles 

Correct Answer: A 

 

QUESTION 5

The product of two consecutive odd numbers is 399. 

What are the numbers? 

A. 17 and 19 

B. 19 and 21 

C. 21 and 23 

D. 25 and 27 

Correct Answer: B 
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